Answer to Question #90633 — Math — Financial Math
Question

1) At what compound interest rate per annum must money be invested if the ac
crued amount must treble in ten years and interest is calculated monthly?

2) At what period of time will R2500 double if the interest is calculated half ye
arly as 11% per annum?

Solution
a=r(ey)”
1) 3p=pP(1+ f—z)mlo
3=(1+3) "
n3/120 =1n (1 + =)

1+ = =1.009197
12

r/12 = 0.009197
r=0.1104
r=11.04%

2t
2) 5000 = 2500 (1+27)

In2 = 2tin(1.055)

2t = In2/In(1.055)

t=6.4731 yrs.

Answer: 1) r=11.04%; 2) t=6.4731 yrs.
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